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LECTURE NOTES: §2.2

1. The function g(z) is graphed below. Use the graph to fill in the blanks.
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@) lim f(z) = 6
(b) lim_ f(z) = i"‘
(c) hm flx DNG

(d) f(4) = i

() lim f(z) = 6
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() lim f(x - 4

(&) lim f(x) = M

(h) 7(6) = L

() lim f(x) =

G) f(8) = L

2. The function g(z) is graphed below. Use the graph to fill in the blanks.
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Write the equation of any vertical asymptotes:

UAF Calculus 1 1

(@) lim f(z) = +p00

r—4~

() lm fz)= — A0

(c) hmf DNE

) f(4) = "WE

© g{lgéf(@ - O
® re=_ 10
=Y

-4

§2.2
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3. Evaluate the limits below by graphing f(z) = ¢z — 1 0<z<2 @

1+vVze -2 2<z @ Y

@ lim f(z) = DNE
because Hhe limit on Lefd and
+he limid on ri al\k ave d $erent

(b) lim f(z) = |

lim $)=]=lim {69).
X9+ X2~

(c) For which values a does lim; ., f() exist? A\ M) humbuier Napé X= 0.
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